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A Calculators: Fractions
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@& calculators: Using the memory function
_Calculate to 2 decimal places: )
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C Calculators: Scientific notation
Calculate:

1 3.07x10°x6.03 % 1012 2
3 9.07x105+5x 10 4
5 1.83x101%2 +1.58 x 10! 6
7 1.381x 1071 +49 %1012 8
9 1.6x10Y+3.8 x10%® 10
11 3.81x101¥0%x3.9x10"3 12

Calcuiator: Reciprocals

5.097 x 1012 x 3 x 10713

1.02 x 103 x 6.03 x 1012

8.04 x 1013 — 6.04 x 10'2
1.581 x 104 - 3.81 x 10%2
1.48 x 1017 - 3,81 x 1015
7.07 x 1011 + 2 x 105

1 Find the reciprocal of these numbers to 3 decimal places:

(a) 15 (b) -16.3 () 4.09 (d) 1.083
(e¢) -53
2 Use the reciprocal function to help calculate these to 3 decimal places:
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€ Calculators: Trigonometric functions
Find the angles expressed in degree/min form:
1 sina=0.2138 2 cosa=0.1238 3 tana=1.2148
4 cosa=0.0314 5 sina=0.1318 6 tana=2.0314
7 cosa=0.6214 8 sina=0.2643 9 tana=6.3142
10 sina=0.8142 11 cos a=0.4104 12 tana=0.2314




T cCalculators: Raising a number to a power
Calculate to three decimal places:

1 502 2 06 3 929 4 3.0902
5 18.202 6 1.08%! 7 4203 8 5.8!2

9 —(3.2)07 10 2.8193 11 91.4218 12 —(0.04)
13 52121 14 192113 5 9.0243 16 16.398

17 9.04°2 18 211

GV Calculators: Finding the nth root of a number

Find the fourth root, seventh root, eleventh root and twentieth root of the following to 3 decimal -
places:

{17,18, 2.3, 1.04, 17.38, 951, 20.013}

H Calculators: Using the statistical functions _
The following are test scores (%) in the latest geometry test by a group of students:

{93, 81, 42, 58, 63, 42, 93, 63, 58, 47, 38, 21, 74, 79, 82, 83, 42, 63, 73, 81, 38, 83, 92, 15,
63} B '

ste the statistical function on the calculator to find the:
1 mean 2 standard deviation of test scores.
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& 1 59.57 2 142.04 3 191.96,
4 1096.88 5 20.88 6 27.06
7 13.87 8 74.34 9 _531
10 172.67 .
C 1 1.85121x10% 2 1.5291
3 1.814x102 4 6.1506% 1015 !
5 1.988x102 6 7.436x 1013
7 1.871x 101 8 1.5429 x 104
9 1.638x1085 10 1.4419x 107
11 0.014 859 12 3.535x 10

o A (a) 0.067 (b)y -0.061 (c) 0.244
(d) 0.923 (@) -0.189

2 (a) 0.407 (b) 0866 (c) 0436

(d) 1.340 (e) 0.071 () 0.886

(& 0.017 ,
B 1 12001 2 82°53 3 50032
4 88°12 5 7934 6 63°47
7 51°35 8 15°20' 9 81%
10 54°31' 11 65°%6 12 13°2
£ 1 1380 2 0216 3 585.199
4 1.253 5 1.787 - 6 1.175
7 1538 8 8.244 9 2257
10 1.363 11 3387460 12 —0.002
13 32015 14 84196 15 12805.251
16 9.327 17 1553 18 66.782
Gr . 4 1 ol o
17 2031 1499 1294  1.152
18 2060 1511 1301  1.155
23 1231 1126 1.079  1.043
1.04 1.010  1.006  1.004  1.002
17.38 2042  1.504 1296  1.153
951 5553 2664  1.865  1.409
20013 | 2115 1534 1313 11162
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